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1. HEEH#
RSE R5.1~5 R4.1~5 R4.1~12 R4.4~R5.3 | R3.4~R4.3
4B 585 RSERED) | GIERD || ReERE ((ReFEERID|ETEERD)
HEF-ERATE 22,417 21,733 | 123,333 121,504 | 294,043 292,748 | 293,746
(7.8) (7.5) (1.5) (A16)[  (A0.1) (A0.3) (0.4)
. 21,968 21311 121,318 119582 | 289530 288217 | 288775
: (7.8) (7.4) (1.5) (A1.3) (0.1) (A0.2) (0.9)
o £ o e 449 422 2,015 1.922 4513 4,531 4,971
REHE 60 as as)| (a5 (a139)] (as9)| (at90)
E |k 2,366 2,421 12,614 13,433 31,711 31,318 32,748
(A9.0) (A7.4) (A6.1) (3.5 (A25) (A4.4) (0.2)
N 2,178 2125 11,228 11,871 28.358 27.991 29.162
(A4.2) (A7.8) (A5.4) (A0.6) (A3.0) (A4.0) (A2.1)
R 13,635 13537 68,085 71.164] 170275 167,561| 183,300
(A3.6) (1.1) (A4.3) (A56)  (A7.8) (A8.6) (A0.8)
4 12,364 12,180[ 60,679 63,141] 150,506 148,003| 162,687
(A1.8) (2.2) (A3.9) (A70)  (A85) (A9.0) (A2.7)
& i 38,418 37,601] 204,032 206,101 496,029 | 491,627] 509,794
(2.3) (4.0) (A1.0) (A2.7) (A3.0) (A3.6) (A0.0)
mE X S 24,087 24,056| 122,186 124,636| 298,943 295,882 316,349
(A0.7) (3.4) (A20) (A2.7) (A5.2) (A6.5) (A17.3)
2. EtE R
RS54 R5.1~5 R4.1~5 R4.1~12 || R4.4~R5.3 | R3.4~R4.3
48 585 RSERED) | GIERD || ReERE ((ReFEERD|ETEER)
R 3,251 3,399 20,399 22240 48,719 45481 51,915
c REET (30.4) 232)  (A83) anl aon| (ai2a (71.2)
[ — 6,304 6,069 30,637 30,046 76,065 76,599 74,013
(2.4) (A15) (2.0) (5.0) (4.3) (3.5) (8.3)
_ 2 0 2 1 10 9 13
| FEET (0.0) 00 (1000)| (A80.0)| (A286)| (A308) (00)
e e 188 296 1,386 1,562 3,353 3,327 3,586
7 |HEEREET| o3 (a39)| (al13) (50.3) a5  (A7.2) (23.6)
< _ 172 193 1,052 1,260 3,094 2,960 3,275
k| REET | Lol as9) (ales) qol a3  a9e| (02
7 P — 1.271 1,357 7,406 8,023 19,769 19,558 20,613
n [EEEET (A186)| (A78)] (A7D) 67| (a16)| (A51) (17.0)
3. FHHEEEERRUVERFERMEEMEZ KRG
R555|E R5.1~5 R4.1~5 R4.1~12 R4.4~R5.3 | R3.4~R4.3
4B 58 (REERE) | GIERLD || R4ERED RAFERTD|ETEERE)
B AR 17,054 18,464 96,866 96,826 || 233,780 | 234,262 | 236,769
(A5.0) (2.6) (0.0) (A1.9)  (A20) (A1.1) (1.8)
o 17,960 18,000 - - - - -
MERA | A3 (3.9) - - - - -
ERAHE 13 17 83 112 231 210 279
Bl sl E (A278)] (A150) (A259) 109) (A132)f (a247) (22.4)
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RS54 R5.1~5 R4.1~5 R41~12 || R44~R5.3 | R3.4~R4.3

48 58 (ROEZRED | GIERE) | R4ERD [[(ReERERED|FIEERE)

== TR 1,783 1,748 8,385 7,580 19,647 20,108 17,353

(6.8) (15.2) (10.6) (15.2) (16.3) (15.9) (3.3)

m % 4 8 33 46 97 86 109
(A42.9) (14.3)  (A28.3) (A2.1) (A85) (A21.1) (A6.0)

¥ P 15 24 74 86 213 202 188
; (36.4)  (A172)f (A140) (2.4) (8.1 (1.4) (26.2)

) ¥ o 4 1 15 11 30 34 23 "
B (100.0)|  (A66.7) (36.4)] (A15.4) (25.0) (47.8) (4.5)
2 = 125 120 613 509 1,448 1,520 1,345

< = (8.7) (22.4) (204)] (A128) (3.5) (13.0) (8.4)

~ = 1,931 1,901 9,120 8,232 21,435 21,950 19,018

= = (7.0) (14.9) (10.8) (12.6) (15.1) (15.4) (3.7
R54 R5.1~5 R4.1~5 R4.1~12 || R44~R5.3 | R3.4~R4.3

48 58 (ROEZRED | GIERE) | RaERD [[(ReERERED|FTEERE)

= o 0 0 0 0 0 0 0

= EEF R (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
- 0 o” 0 2 3 2 7

= ' (0.0)| (A 100.0) (A100.0) (A60.0) (A500) (A71.4) (16.7)
5T OE 0 o" 0 0 0 0 0

25 (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
w o= 0 0 0 0 0 0 0

- (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
= & - 0 o" 0 2 3 2 7
= = (0.0)| (A 100.0) (A100.0)] (A60.0) (A50.0) (A71.4) (16.7)

R5fﬁ R5.1~5 R4.1~5 R4.1~12 R4.4~R5.3 | R3.4~R4.3

48 58 (ROEZRED | GIERE) | ReERD [[(ReEERED|FIEERE)

-~ 39 14 135 102 340 348 327
BEERB| 000 (a7 (32.4) (2.0) (8.3) 6.4) (A24)
Elom 0 0 5 7 13 13 17
(A100.0) (0.0 (A28.6) 00) (A133)| (A235) (70.0)
- 2 0 4 2 6 6 8

E (0.0) (0.0) (100.0)| (A333) (A143) (A25.0) (100.0)
A = 41 14 144 111 359 367 352

= = (173.3) (AB.7) (29.7) (0.9) (6.8) (4.3) (0.9)
RSE R5.1~5 R4.1~5 R4.1~12 R4.4~R53 | R3.4~R4.3

48 58 ReERED | @iER® | ReERE [(ReERERID|GEiERERD)

- 84 81 495 618 1,536 1,536 1,252
EEF R (A485) (A352) (A19.9) (71.2) (38.8) (22.7) (59.7)

- 4 4 41 40 96 106 104

- (A333)]  (A63.6) (2.5) (53.8) (3.2) (1.9) (70.5)

5] s 62 93 390 514 1,201 1,108 1,193
! (A36.7) G (A24.1) (17.8) (6.5) (A7.1) (15.6)

w o= 4 1 6 2 4 4 6

£ (300.0) (0.0) (200.0) (A500) (A500) (A333)| (A50.0)
2 2 22 35 132 245 573 506 503 ”

; (A585) (A300) (A46.1) (13.4) (15.8) (0.6) (23.3)

A = 176 214 1,064 1,419 3,410 3,260 3,058 "

= " (A452)] (A21.9) (A25.0) (35.9) (20.5) (6.6) (33.1)




